
0.001 x 10 = 0.1 x 10 = 0.57 x 10 =

6.46 x 10 = 0.007 x 10 = 1 x 10 =

0.01 x 10 = 29.13 x 10 = 479.5 x 10 =

0.071 x 10 = 0.02 x 10 = 60.4 x 10 =

22.2 x 10 = 0.28 x 10 = 0.09 x 10 =

60.9 x 10 = 0.001 x 10 = 1 x 10 =

41.4 x 10 = 911.1 x 10 = 2.3 x 10 =

76.2 x 10 = 0.5 x 10 = 0.004 x 10 =

4.3 x 10 = 0.46 x 10 = 0.006 x 10 =

0.005 x 10 = 678.8 x 10 = 0.08 x 10 =

0.85 x 10 = 48.5 x 10 = 0.87 x 10 =

0.031 x 10 = 56.4 x 10 = 0.006 x 10 =

3.4 x 10 = 0.01 x 10 = 0.081 x 10 =

0.44 x 10 = 0.06 x 10 = 0.77 x 10 =

0.001 x 10 = 4.693 x 10 = 0.08 x 10 =
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0.001 x 10 = 0.01 0.1 x 10 = 1 0.57 x 10 = 5.7

6.46 x 10 = 64.6 0.007 x 10 = 0.07 1 x 10 = 10

0.01 x 10 = 0.1 29.13 x 10 = 291.3 479.5 x 10 = 4795

0.071 x 10 = 0.71 0.02 x 10 = 0.2 60.4 x 10 = 604

22.2 x 10 = 222 0.28 x 10 = 2.8 0.09 x 10 = 0.9

60.9 x 10 = 609 0.001 x 10 = 0.01 1 x 10 = 10

41.4 x 10 = 414 911.1 x 10 = 9111 2.3 x 10 = 23

76.2 x 10 = 762 0.5 x 10 = 5 0.004 x 10 = 0.04

4.3 x 10 = 43 0.46 x 10 = 4.6 0.006 x 10 = 0.06

0.005 x 10 = 0.05 678.8 x 10 = 6788 0.08 x 10 = 0.8

0.85 x 10 = 8.5 48.5 x 10 = 485 0.87 x 10 = 8.7

0.031 x 10 = 0.31 56.4 x 10 = 564 0.006 x 10 = 0.06

3.4 x 10 = 34 0.01 x 10 = 0.1 0.081 x 10 = 0.81

0.44 x 10 = 4.4 0.06 x 10 = 0.6 0.77 x 10 = 7.7

0.001 x 10 = 0.01 4.693 x 10 = 46.93 0.08 x 10 = 0.8
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